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1. 89 %l fovgem wen ¥ fafaw)
Write 89 in Vinculum Number.
2. 7- lhlx +x3 ¥ x2 =1 TR fafEe |
Write down the coefficient of x2 in 7 — 11x + x3.
A fem A Ak ZAOC = 62° ¥, M £LBOC &1 A SR |

Tn_the given fignre AOC = 62° then find BOC.
, A .
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/ﬁﬁﬁaﬂ SRS I A H TR W g3 fafa)
Write down the Heron’s formula to calculate area of triangle.
5. 15, 0, 10, 5 1 WA T KT
Calculate the mean of 15, 0, 10, 5.
6. 45° % F H TS WHR T T § FRQ

Construct an angle of 45° with the help. of compass and scale.
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* If the two angles of a triangle are 90° and 30° then find the third angle.

F.9.9.



(2] A-3-35

s, %’mﬁgmuﬁtﬁ%aﬁmwmqmmmﬁﬁm 3
Side of cube is 12cm thgn find the surface area of the cube.
9. 60° &I Mea & wfafda i | o 2

Convert 60° in Radians.

. 5 . '
10. A% 51H9=E ? @ tan 0 &1 WA @ Fifww - 2

. 5
If sin® =E then find the value of tan 8

Jﬂ./ﬁf@ansﬂwﬁﬁ@msstm_osﬁgunﬁﬁm ' _' ' 3
With the help of Nikhilam Base method multiply 103 x 105 x 106.
A

1
2+ﬁ$§mwﬁﬁaﬁmﬁﬁql R 3

1
R - - 4 R
ationalize the given valug 2+ Jg

13. 9gUE p(x) = 3x + 2 N YEF A HifaQ) 3
Find the zero(s) of given polynomial p (x) = 3x + 2. |
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Prove that if in a triangle two sides are equal then the value of their corresponding
angles are also equal.-

15. waa@ﬁarméso@ﬁr éﬁmﬁzoﬁ@meﬂtﬁﬁlwﬁwﬂﬁxsm
xzﬁtﬂmaﬁﬁﬁ%ﬁzr{a}wm%l . 3

If the length of box is 30cm breadth 20<:m and height 6cm respectwe]y then how
much cassettes can be fit in it which have dimensions 10cm x Scm X 20m

_;(ﬁgaaﬁmm'\m Weifh AB + BC + CA = 10 ¥, /B = 60° T§ £C:= 80° 4
Construct a triangle which have AB + BC + CA = 10 cm, ZB = 60° and ZC = 80°

-7 WagﬁmABCDaﬁmﬁmmﬁABucn AB = 8 &, BC 6“@?&

= 4 Gt 3R ZB = 75° _ 4
Construct a trapezium ABCD whose AB || CB, AB = 8cm BC = 6cm CD dcm
~and ZB = 75° : .

18. @TwMBcﬁmchmm%lmﬁm%
AB2 = AC2 + BC2-2BC xDC | 4
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In an acute angle AABC, AD is a perpendicular on side BC. Then prove that

=AC? + BC? - 2BC x DC
@Wﬂﬂmm%wzsaﬁﬁm%maﬁaﬂusﬁaaﬁmmaamﬁw
STES T FHU | 4

If a square field has an area of 2025 m? and it 3 5m wide path then find the area
of path. :

T SR & o= 8 i, ﬁmm4w%|fﬁaﬂsswﬁﬁ|€f%lsﬂﬁwaﬁm
2n°ra><1%mmam1voﬁax1ﬁaﬁ’éawmm@é1soo
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If a wall is 8m long and 4m high and its 35 cm wide in which we - have a door of
2m x 1m dimensions and two windows more which have sides 1.2m x im. Then

. if the cost of construction of wall is 1500 Rs then find the rate of construction per

sq meter.

4 tanB — 5cosH
secO+ 4cotB

Hﬁ'sine-—%‘r'c?r 1 W T R g

4 tan@ — S5cos6

4
If sin@ =3 then find the value of

secO+ 4cotd
secO+1 : : _
fag = f& = cot® + cosecB 4
secO+1
= cot@® + cosecH
Prove that sec B —

\ﬁmmm%mmmﬁmﬂmﬁwmmﬁmt 4

Draw a frequency polygon with the help-of Hlstograms for the following frequency
_ distribution : :

Wi (Marks) 2-4{4-6|6-8|8-10 [10-12
faenfeldl =61 den
(Number of Studerits)
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24. TH A T F AAER i 30" x 250 F &, TH AA A FHE A1 20" x 20"
1 ¥ forert Ye-3Te 5 g aifea % 1 ) 4 o AT T T | T HhTE 9
1 R? | 4
A rectangular blue coloured signboard has sides 30” x 257 and in its centre there
is a white square of side 20” x 20” which contains a ced cross in it then find the area
of thef, blue region. Also describe what does the signboard indicates. |
25. 27x3 + y3 423 - 9xyz T OFETE HIfST ) . 4
Factorize of 27x3 + y3 423 — 9xyz.
125x3 — 8y3 &1 TUFETS HIWC I
Factorize of 125x3 - 8y3 -
26, et welterte o e fafe @ v @ HifSg 6
Find the solution of following equation from graphically method
X+y=33x+2y=7
27, wF 9 X g ¥ 10 A= # Prefefed M 60 2,3, 4,5 0,1,3,3,4,3
39 el o TS, WEAE iR agerd W e R
“{f the goals scored by a football team in the 10 football matches are | N
2.3.4,5,0,1,3,3,4,3 then find the mean, median and mode of goals scored.
28, fag U o B a0 & el 3 men fagali a0 firery anen Yaraos e o 3 FA
Td I T B S . . 6

Prove that in a triangle the line segment which connects the mid point of two sides
is parallel and half of the third side. | '

29. wWWNaam,bﬁaaﬁa@a.sﬁaiﬁémﬁmﬁwﬁsmﬁ
5 T x 1.5 W ¥ a1 4 faefral 125 x 1 A D, A 47 50 Wy =l A= RN
=7 T FER W W F T 6 E 6

If a room is in the cuboidical shape which has length 7m breadth 6m and height
3.5m and it has 3 doors of 2m x 1.5m sides and 4 windows of . 1.25m x 1m sides

then find the cost of painting the walls if the rate of painting is Rs 4.5 per sq m.

30, TU@TS Y (FE | A) : Factorised following (Any two) _ 6
() 4x2-x-3 ‘- (i) 12x2-7x + 1 ‘
(iii) x® — 256 '
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